
■ P.9：①ⓒ譜例の説明
正しくは以下の通りとなります。

【誤】（ D 13 小節目）
【正】（ C-2  4 小節目）
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■ P.11：C -3  5 〜 6 小節目

■ P.22： A  6 小節目 と B  4 小節目

■ P.13：①ⓐ 1 小節目

■ P.18： A  1 〜 2 小節目 と  B  3 小節目 

■ P.23： D  5 小節目 と  E   4 ～ 5 小節目

■ P.19：上から 2 段目 2 小節目

■ P.30： C  3 〜 4 小節目 　 

正しくは以下の通りとなります。

正しくは以下の通りとなります。

正しくは以下の通りとなります。

正しくは以下の通りとなります。

正しくは以下の通りとなります。

正しくは以下の通りとなります。

正しくは以下の通りとなります。



【誤】

【正】

【誤】

【正】

カウント入る

【誤】

【正】

【誤】

【正】
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【誤】

【正】

【誤】

【正】

      

      

■ P.31： E   1 小節目 ■ P.50：上から 2 段目 2 〜 3 小節目　

■ P.46：Intro.  1 小節目

■ P.62：Intro.  5 小節目 ■ P.90：Intro.  1 小節目

■ P.88： 1 ～ 2 小節目 と D-2  8 〜 10 小節目

正しくは以下の通りとなります。 正しくは以下の通りとなります。

正しくは以下の通りとなります。

正しくは以下の通りとなります。 正しくは以下の通りとなります。

正しくは以下の通りとなります。


